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QUESTION 1

Which two performance metrics can be used to trigger scaling actions In Autoscaling? 

A. Network latency 

B. Memory utilization 

C. Network throughput 

D. Disk IOPS 

E. CPU utilization 

Correct Answer: BC 

 

QUESTION 2

A customer is hesitating between running BM.Standard.E3.128 or HPC2.36 for his workload. Which statement would
disqualify the AMD chip without any benchmark? 

A. IO speed has a huge impact. 

B. Total number of processes is between 48 and 128 cores and can use RDMA. 

C. The workload requires about 4GB/core of memory. 

D. The workload is embarrassingly parallel. 

Correct Answer: D 

 

QUESTION 3

You are building a file system of 10TB Storage Capacity with only one file server using "Balanced Elastic Performance
tier" Oracle Cloud Infrastructure (OCI) Block Volume Storage. Balanced Elastic Performance tier throughtput scales at
480 KBPS/GB up to a maximum of 480 MBPS per volume. 

Which two options are correct about how many Block Volumes you can attach to the file server to get maximum IO
throughput? 

A. One Block Volume of 10TB size 

B. 10 Block Volumes of 1TB size 

C. 8 Block Volumes of 1.25TB size 

D. 20 Block Volumes of 500GB size 

Correct Answer: A 
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QUESTION 4

Which is NOT an advantage associated with moving a Big Data workload to Oracle Cloud Infrastructure (OCI)? 

A. managed service offerings to support common Big Data workloads 

B. best price / performance for Big Data workloads In the Cloud 

C. availability of Oracle Airflow 

D. Object Storage as Data Lake 

E. dynamically scale capacity against workload 

Correct Answer: A 

 

QUESTION 5

Which two options are valid when configuring health check policies in Oracle Cloud Infrastructure (OCI) Load
Balancing? 

A. FTP level health checks 

B. TCP level health checks 

C. UDP level health checks 

D. HTTP level health checks 

Correct Answer: BD 
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